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Answer GV e

Please attempt all questions without a calculator.
The only sheet you may need a calculator for is the density section. (These have been included
because they demonstrate the range of style of questions you could be asked in the exam.)

Year 11 — Paper 1 Revision Pack

(Higher)

/‘_\ CORBY .
- lechnical
School

How to use this revision pack

1. Review the list of topics that will appear on paper 1 of the summer exams. This can be found on the next page.

2. Work through the revision pages for each of the topics that will appear on the summer exams.

3. Use the electronic mark scheme to check your work and identify areas of weakness. The electronic mark scheme can
be found on Teams and Satchel One.

4. Follow up with either:

A. Using the Hegarty Maths Clip Numbers to watch video tutorials on areas of weakness. You should then
complete the quizzes on Hegarty to test whether you have closed your gap in knowledge.

OR

B. Follow the link for Maths Genie Exam Practice and search for the pack of questions relating to each topic (Mark
Schemes Provided)

Each of these options is clearly labelled at the bottom of each page of revision.

5. You can also access whole past papers at https://corbettmaths.com/2022/02/28/edexcel-gcse-higher-summer-2022/
You should select Advanced information — Paper 1 (Set A and Set B)

6. Email your class teacher if you have any questions or require further resources. Email Mr Lee if you need help during
the school holidays.
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Paper 1H - grouped by content area

Number (*see Ratio - some overlap of topic areas}

Fractions

Properties

Foaury and fouly

Standard Form

Algebra

Manipulation

Equanions and inequalitics

Graphs.

Ratio, propartion and rates of change [“see Number - some averlap of topic arsas}

Percentages Percentage of an amount
Rave Write 34 4 Habio
Fraction of an amount
1ge of ntie
Fraction arithmetic
Share i a catio
Recurring decimal 10 fractron atie 16 ction
Praduct of prime factors. Proportion Equaticn af proportion
Negative and fractional indices Compaund Mextunrs Deauty
Samphheation G i
Corrveriion Angles Arple in s polygeen
Cakulation Lirigytt, aron and vohame Ara of § ttanghe
Methume of 2 cube
Surtace arva of & cubiold
Simplfication
Arma of 4 e tor
Espansion of brackets Pythagoras’s Theorem and Trigonometry  pythagorass Theorem
Algebrale fiactiony

Eeact tngonometic valurs
Linear inequality

Yeetony Vecton grometry
Form an equation

Probabiiity
Quadratic equation

Probabsdiny Probability
Equation of a Langent o 8 chithe

Independent combined cvents

Quadratic gragh

Stattics
Speed-time gra

graph Dragrams Cumulatrve frequency graph

Geadients of parallel and perpendicular lines Menae ican

Geradient of 3 curve Inter quartile range
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Non-Calculator

Number

Section A:

Paper 1H - grouped by content area
; Number {*see Ratio - some nn;ap_oi topic areas)
i Fractions - | Fraction of an amount
| Fraction arilhme;i;
Recurting decimal to fraction |
Properties  |boductofprimefactos |
[ Negative and fractionaI:dic:
_Pa:ers and roots .Simpliﬁcalion of surds -
| Standard Form Conversion
| Calculation -
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Fraction of an amount

Find 3/4 of 28.

x|

Increase 28 by 3/4

49

3/4 of x is 33. Find x.

44

3/4 of x is 12. Find 5/4 of x.

20

| https://www.mathsgenie.co.uk/gcse-may-june-

hegartgmaths C_I_ip_zz_ II Fractions of an Amount

Fraction Arithmetic

3 2 23 12
22X1$ Z.|.. 7
=99 3§ =13, =
3 .2 ,3.
23713 1717
< 41/ ) 13
2§ ° 20

| Fractions
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Recurring Decimals to Fractions

Convert 0.5 into a fraction

z 5/9

Convert 0.52 into a fraction

< 4‘7/90

Convert 0.523 into a fraction

_,259495

TR e tymaths ETEEE

Work out 0.25 x 0.5

* 26

https://www.mathsgenie.co.uk/gcse-may-june-2022-higher-topics.html

Recurring Decimals to Fractions

Product of prime factors

Express 50 as a product of prime factors

S0z 2 xg*

Express 96 as a product of prime factors

9% s st3

Given that 40 = 23 x 5,

Express 80 as a product o f prime factors

22xSx2= N%xS

Express 400 as a produdct of prime factors

2y 8x1D = Q4+ x52*

IR hegor tymot s R

Given that 20 = 22 x 5,

What is the smallest number you can multiply
20 by to get a square number?

S

[www.mathsgenie.co.uk/gese-may-june-2022-higher-topies-htmi

! Prime Factors, HCF & LCM
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Indices
Work out: Work out:
G0° 4722 '/(Q
&9
100t g
100 /8
s 4
Work out:
Write the following in the form 4™
1
252, 3 163 x 23
25%=]')_5 0"9.)3 x (;1_!/:,)3 i
6 I- 7
_ X =
257 = l/\)S Ax 4 ¢

www.mathsgenie.co.uk/gese-may-june-2022-higher-topics. html

Clip/102-110 | https:

I R hegartymaths

Fractional & Negative Indices

Standard Form

Write the following in standard form:
47 000 000=4--7x 107
3003003 - 003 x 10>
0.0007= 7x|0"4
45 x 10434"5 'X'OS

Write the following in ordinary form:
4.5 x 10& 45000000V
2003 x 10% 20030

2 x 1075 0-0000 2

® 1.5x102
rouo ur wone [NSTTTIE

Work out:

(45 x107) x (3 x 10%)
- 135 x10™

(4.5 x107) + (3 x 10%)

Clip 122-127

Work out:

(45 x 105) + (3 X 10%)
< 4.8 x|03

https://www.mathsgenie.co.uk/gcse-may-june-2022-higher-tapics.html
Standard Form
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Surds

Simplify V32

S\

Work out V10 + V40

= 3 \{io

Work out:

3Vsx2vZ, 610

3v5 x 25 « 30
15V21+5V35 Q\(5

Expand:

(5+6)2V5+7)
T sLviads

ORI hegrtymoths EEIET

3V2(V5-2v2) -2 43

Rationalise the denominator:

44295 _j +Vs

3++5 2,

Section B: Algebra

Algebra

Manipulation

| Equations and inequalities

. Graphs

Simplification
. Expansion of brackets
Algebrai fractions
Linear inequality
Form an equation
Quadratic equation
Equation of a lar\g-ent to a circle
. Q:admk graph
Speed-(l-n-\e graph
Gradients of parallel and perpendicular lines

Gradient of a curve
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Expansion of Brackets

MRS hegorty ot s G

Expand: Expand:
102 —x) 5(7 =3x)—42x —7)
- 20 - 10w 3 - Isx - Fx+2§8
63 - 23x
Expand: Expand:

(2x —5)(x+7)

= 2%* +9x~ IS

https:/fwww.

(4x+ D7 -3x)(x+1)
WBx~12x¥+7 -3

< - 23+ 13x" +32x+ 7

mathsgenie.co.uk/gese-may-june-2022-higher-topics.html
| Expanding and Factorising Brackets and Expanding and Factorising Quadratics

Inequalities

Solved4x —1 =210

7,1(/
+

Solve4x —1 >2x+11

X7 €

IO hegartymoths

Represent the following on a number line:

2<x <5

Clips 265-272

Represent the following on a number line:

—-3<2x -1 <7
~14 x &4
o—¢

https://www.mathsgenie.co.uk/gese-may-june-2022-higl
Inequalities
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Algebraic Fractions

Simplify:

15x + 10 _%& 1 2L
25¢r —5 - QX - |

22 +10x+16 - Xt + X

Simplify:
3=
x+5 x+3

“2x?* ~7x +9
Cx +5)(x+3)

I hegartymaths

X% — 64 TX‘

Simplify: Simplify:
x2+x-30 x+6 3x+9 x+3
4x+24 xE+8xt12 7 2

. x-S
4(x +2)

Clip 159,170,
172, 229

igher-topics.html

Forming Equations

Find the size of the larpest angle.

|50

Given that

-1 :20-3 = x+2: 3r-2

Find the possible vahws of x

x = b ond X=T

IR e ot ST

The disgram shows o right-sgled tnagle sed & rectmgle

Sem

Disgram NOT
T Tem sccuniely dwm

5 —

@+ Hem o (10-Dam

The ares of the rizngle i= rwice the arva of the reclangle.
() Weite down o cquation for 7

BeX v\ =140 ~ &L

(i) Find the aren of the rectmgle
Show clear algrbraic working.

X =z 2 .44
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Quadratic Equations

Solve:

k=% xx =2

Solve:

x2—10x+16=0 x> —x—6=

xXx=3 X= -9

0

Solve:

x? =5x+ 24

X =€ X=-3

Solve:

(Qx+3) (=< +

1i 230; 238- i Y /gcse-ma
FOLLOW-UP WORK hegar tymaths et Sk s gg‘l;-nfgg;;;’;;::;s enie.co.uk/gcse-ma

2x>+5x+3=0

Dcz-f?g’ x= ~|

r-june-2022-higher-topics.hitml

Equations of tangents to circles

2\3, H.;-—-)(-P?.

N
P(2.2)
% < - \ x - 2) / X axis
3
ng ind the-gmmtwn of the tangent
henartumaths Clip 320 |

a.Find the gradient of the line OP ‘ b.Find the gradient of the tangent
QJ The diagram shows the circle x2 + y2 = 8 with a tangent at the point (2, 2) -hi
=

Darnandicular linae and tha aninatinn nf a ancant

/\ uqx»srw 3

d. F ind the coordlnates where the tangent
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Quadratic Graphs

{a) Compicie the table of yalues for 3 = v = 21

b.Find the coordinates of the turning point

. : 4 9 12
r § 1 Q-l0> i) R
Ct,~1)
() On Lbe grid, draw the graph of v = x* — 24 for the values /
of xfrom -2 to 3

o c.Find therootsof y = x% — 2x

i X =0 X =2

= d. Find an estimate to x> —2x = 6

FOLLOW-UP WORK hegartg maths Clip 251-257, | https://www.mathsgenie.co.uk/gcse-may-june-2022-higher-tapics.htm|

e —— ] Drawing Quadratic Graphs

Gradients of Parallel & Perpendicular Lines

Write down the gradient and y — intercept of: Which equations are parallel toy = 3x — 27

ST oSke e

5 y=5x —2 (O)—’L) y=4x —2
3 y=3x 0,0) Ly =2+ 3x
-2 y=10 — 2x (KO FRT) y=5—3x
-1 2y+4x=12  10,k) y —3x=1

What is the perpendicular gradient of: What is the perpendicular gradient of:

—

4 B
_ i 4 _2

3 i
3
TR hegrtymaths EEEEE

https://www.mathsgenie.co.uk/gcse-may-june-2022-higher-topics.html
Parallel and Perpendicular Lines

10
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Gradient Under a Curve

Find the gradient of line a and b:

u e =
A\ _ | LineA
A , _
7 " /
64 -
s

4

3

2

N

0

16
14N

12
Bepth (cm) 10

LAV N = R -]

0

find afqd ‘Q(H’
of Fan

[ 9 W 1 12

I oyt

1 second.

Time (seconds)

Use the graph to work out nummmmmdmnmdmmﬂl

Gradlent of Lines and Velocity-Time Graphs

Section C: Ratio & Proportion

Percentages

Ratio

Proportion

Compound Measures

Ratio, proportion and rates of change (*se¢ Number - some onrhp of topic -rols)

Percentage of an amount

Write as a ratio

Use of ratio

Share in a ratio

Ratio to fracllon

Equations of proportion

Density

11
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Percentages of an amount

Find 32% of 160 Find 2.5% of 140

Q1.2 .S

15% of a number is 30, What is the number Find 145% of 60

200 g

https://www.mathsgenie.co.uk/gcse-may-june-2022-higher-topics.html

IR hegartymaths KT

Percentages

Use of Ratio & Ratio as fractions

There are red and blue counters in a bag. Write 2:7 in the form 1in

3
T of the counters are red.

Write the ratio of red counters to blue counters. |

3.2

SR

The ratio of red to blue counters is 3: 1. A:B=3:4 B:C=37
What fraction of the counters are blue? Find the ratio of A:B:C

9112 2%

1/4\

Clip328-329;  httos://www.mathsgenie.co.uk/gese-may-june-2022-higher-topics.htm!
FOLLOW-UP WORK hega rtumaths 335-338, 330 | Writing a Ratio as a Fraction or Linear Function

12
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Sharing in a

given ratio

Simplify the ratio

16 L%

24-

Ayesha gets £18 more than Nathan. How much does

Nathan, Ayesha, and Jordan share some
money in the ratio 9 : 18 : 12

Jordan get?
ORI oty moths OB

Divide £78 in this ratio.

1§:367 24

£19s

Nathan and Jordan have £105 together. What is the
total amount?

https://www.mathsgenie.co.uk/gcse-may-june-2022-higher-topics.html

Density

A picce of gold has & mass of 760 grams and 1 voluroe of 40 con'.

A rock has » mass of 56 grams and » density of 3.5 graema/cm’

Find the demity of Liquid B.

D Kg(cn>
IR ertymaths

Clip 725-733

‘Work out the denaity of the picce of godd. Work out the vokme of the rock.
Liquid A has a demsity of 1.2 g/em’ 100m! of liquid A and 200ml of Liquid B are mixed together 1o make liquid C.
Liquid A has a density of 0.7g/ml.
150 cm’ of Liquid A i mixed with some of Liquid B to make Liquid . Liquid B has a density of 1.1 g/ml.
Liquid € has a masa of 210 g xod a demsity of 1,52 g/am’ Work the density of liquid C.

LO3%M\

https://www.mathsgenie.co.uk/gcse-may-june-2022-higher-topics.html

Speed & Density

13
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Equations of Proportion

Match ach graph 1o the correci relationship Draw a graph to represent y being
proportional to x?

Y - J‘x Draw a graph to represent y being
proportional to x3

|

hegartgmaths Clip 343-347 |

Direct & Inverse Proportion

Section D: Geometry

Geometry and measures
;ngle_s o ] Arlesin:po!ygon -
Length, area_an; vtIm: | Area_ufa triangle
Volume of a cube
Surface area of a cuboid
Area of a sector -
Pythagoras's Theorem and Triganometry | pyth ™
Exact trigonometric values
Vectors [ Vedov_geomeuy

14
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Angles in Polygons

The following shapes are regular polygons. Find the value of y.
Find the value of y.

|05

The sum of interior angles of a polygon is 7380°,| A regular polygon has an exterior angle of 45°,
How many sides does the polygon have? How many sides does the shape have?

A regular polygon has an interior angle of 120°,
How many sides does the shape have?~6

FOLLOW-UP WORK hegartgmaths Clips 560-

5RG

Angles in Polygons

. The diagram shows a bexagon.
ABCDE is a pentagon. The bexsgoa has ooe line of symmetry.
1 L]
/ ';I]'}
/ .
E F (a
s
E i
FA = 8C
D C : EF=CD
Angle ABC= 1IT*
Angle BCD = 2 x angle ABC Angle BCD = 2 x angle CDE
R Wark out the size of angle AFE.
Work out the size of angle BCD. You must show all your working.
You must show all your working.

Clips 560- https://www.mathsgenie.co.uk/gcse-may-june-2022-higher-topics.html
GAG | Angles in Polygons

I hegartymaths

15
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Area &

Volume

7
7cm ' |
1lecm

Calculats y, the length of the base.

R hegartymaths

Clips 557-558;
_568-569; 583

10cm 11em
A
Calculate the area of the triangle. ZS Cm mﬁ Lﬁ;om?ram:mu 84-7CW\3
Not drawn accurately |
6cm ‘ X
y 6CM
The area of the triangle is 21cm? 7 cn

The volume of the cuba is 27am?,
Find x

https!//www.mathsgenie.co.uk/gcse-may-june-2022-higher-topics. htm|

J Finding Area of any triangle and volume of prisms

Area of Sectors & Surface Area

IR hegartymaths

Clips 546-547;
584; 589-590

Sector Areas & Arc Length and Surface Area

A B |
3cm
m —_ —_
07 /
g 4?X ) em> : 2cm N
o ( n fem O 2em
m;ﬁﬁmuu Work out the icnl suriece area of the Aboid
Shown below is & sector of & circle, with mdius x am Shomn beiow a5w teo cuboids.
¥4 /] .
‘{' y Zem 2cm
1 Acm 1
KD | L cm 7em y i
The acea of the secior s 18 ot ::‘MM"H“"' ‘ éOIV‘
Find the length of x.

zher-topics.html

16
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Pythagoras Theorem

Find x. Find x.
Leave your answer in surd form if neccessary Leave your answer in surd form if neccessary

x —lzm
Scm Scm
g 3 em h \I NI om

12ecm x
Find the length of the two missing sides. Find the length of the line segment with
Leave your answer in surd form if neccessary. endpoints (2,4)and (5,8)

S

2em G2 o

FOLLOW-UP WORK hegartgmaths E::ss 4il-— :t\'/tthsa:g(:\r/:vsw.nmths enie.co.uk/gcse-may-june-2022-higher-topics.html

Exact Trigonometric Values

YOU MUST LEARN THESE!!! Shown betow ® & rght anled barg. \4_,
R
0° | 30°| 45° . ° 8+ 10/2
ALY T
, 1 |1 3 :
sm | 0z vz | ! T s ey
V3| 1 1
cos 1 — | = = 0 . .
2 \/-2_ 2 Below i a right angled triange. COS-‘(M.ﬁii_\E'_)
4+2]2 . g
tan | 0 % 1 | V3] - ‘ \_\ i

16203 =30

Show that angle x = S0°
Include al your working.

FOLLOW-UP WORK hegartg maths Clip 845 | gfiﬁ%ﬁ:i:::m enie.co.uk/gcse-may-june-2022-higher-topics.html

17
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Vector Geometry

A

ABC m awange

“ i

2] A_fi

I hegartymoth

W ot on BC such Tl Bl « % BC

Exprama e vacors 10 terrtm of x ard y

-\/3,4- ¢
‘§?*%“

m

m

i B
Y&

S Clips 628-

-63R

ACEwa
Plaapan o AG

AB=2a 40 6b AP:PO = 211

(@) Find thevecior OB inperma ote and b

—€b + Aoy

i Vectors

PQ = 2b +Lz(-6b+>.o)

*2b L3b + &

=~ ~bio

PC = 4(PQ) =Graughting:

PC = ¥4H 140

Section E:

Probability & Statistics

Probability

Probability

Statistics
Diagrams

Measures

Cumulative frequency graph

Inter-quartile range

Independent combined events

Mean

18
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Independent Combined Events

Helen is taking part in a qulz on TV.
The probability she answers a question correctly is 4

Helen is asked two questions

Calculate the probability she answers both questions correctly.

'®hs

Almir s niched! dicm i 108ect Sree Behes

(a) Find me prohabaty of gatng a six B thee bmas

e

(o]

(254, ¢,

TR heoartyroths R

(b) Find e probabeity of getting no sxes.

A tiangular spiner has three sechons of squal size

Thvis BpINNDT 5 SPUN Twoe
A scom is found by addng the two numbers together.

Find the probabikty of

{a} ascom of 6

{b)ascoreof 5

| https://www.mathsgenie.co.uk/gcse-may-june-2022-higher-topics.htmi

! Probability Trees

Cumulative Frequency
& IQR

Age, xyears  Frequency fm
20¢x530 | 12 i2
30<x<40 | 30 4l
| 40<xs50 @ 28 TO
| 50<xs60 22 12
— | 60«x¢70 8 Q0

(a} Campiete the cumulative frequency colkmn in the tahle.
(4]

 ToTo\ LSt ESE bl et SRt L foest 950 B IS331 st A

Cumulative
frequency 60

40

20

0 10 20 30 40 50 60 70
Age

0]

() Draw a 4 gragh for this i

IO hegartymaths G

c.Find an estiamte for the median
W :
&admg}. ob GO Valve
(Wil dapen d o gioph)
d.Find an estimate for the interquartile range

75t volve - 25 ™valve

e.Estimate the fraction of the group who were
over 557

o '9/‘00

://www.mathsgenie.co.uk/gese-may-june-2022-higher-topics.html
| Cumulative Frequency and Boxplots

19
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Mean

The mean of 4,5,7,8,and x is 10.
What is the value of x?

26

The mean of four numbers is 11.

If one number is removed and the mean is now 13,

What number was removed?

5

The mean of five numbers is 6.
If I add a sixth number, 12,
what is the new mean?

~

FOLLOW-UP WORK hegartgmaths Clips 405-

ANA- 412421

https://www.mathsgenie.co.uk/gcse-mav-june-2022-higher-topics.html

l Averages

The average number of cars in 60 households in Corby is 3
The average number of cars in 40 households in Kettering is 2
What is the mean munmber of cars in the 100N householis?

2.6

20



